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Slug91: Slope : usr_vs_evMon2 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

htemp

-@- Regression

-@- Lagrange

9905 990 990, 4905 9910 4974 9976 997,

Run Number

Entries 46

Mean 0.9769

Std Dev 0.3879

-02 0 02 04 06 08 1 12 14 16 18

)-fabs(mini_eigall.usr_evMon2) ) /(ppm/um)



= =
o )

o)

Slope (ppm/um)
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Slug91: Slope : usr_vs_evMon7 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

F _ . htemp

e ! ! ! -8 Regression 3 r

n \ . . Entries 46

_;_ 1 | 1 |

I . -@-Lagrange 25 Mean 0.6256

L 1 1 | .

H ! ! ! [ Std Dev  0.733

I 1 1 1 -

- ) 2

L L

n

n F

L 15

n L

" 1

n L

n |

L | osl

: | 1 1 1 [

—0-._ 1 1 1 1

Dbttt ettt et it eiratd ol 1

9903 9904 %05 %905 %% 4905 %910 %914 9926 991, 4 05 0 05 1 15 2 25
Run Number )-fabs(mini_eigall.usr_evMon7) ) /(ppm/um)



Slope (ppm/um)

20

15

10

-10

-15[4
gl Ll

Slug91: Slope : usr_vs_evMon8 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

4903

9904

4905

4906

990,

4908 4910

4911

9974

4917

Run Number

0.5

0

— _ htemp
[ -@- Regression 3 |

n Entries 46
. L

r -@-Lagrange 25 Mean 3.842
_|. .

[ [ StdDev  2.612
L L

- 2

r L

-

[ L

— 15

1L L

n I

L 1 1 1 1 1 1 1 1 1 i

- . . . . . . . 1

. 1 1 1 1 1 1 1 1 1 3

- 1 1 1 1 1 1 1 1 1

8 10

)-fabs(mini_eigall.usr_evMon8) ) /(ppm/um)



=
[6)]

[Eny
o

TIT T T T[T FT

Slope (ppm/um)

Slug91: Slope : usr_vs_evMon9 (ppm/um) Idit_slope - Ireg_slope| (ppm/um)

htemp

-@- Regression

Entries 46
1.8
-@- Lagrange + Mean 1.35

1.6

Std Dev  2.644

14

1.2

0.8

0.4

0.2~

IR C:Iu iy e L Ll

9903 9904 %05 %905 %% 4905 %910 %914 %16 991, 4 =2 o 2 4 6 8

Run Number )-fabs(mini_eigall.usr_evMon9) ) /(ppm/um)




Slope (ppm/um)

Slug91: Slope:

usr_vs_evMon10 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

=
o

SRR B R B R

-@- Regression

-@- Lagrange

T

L
-5k

T

| 1

- 1
oA bbb bbb r et et

4905 4904 4905 4906 490, 4905 4910 497, 996 497,

Run Number

15

0.5

25F

0

-4

-3 -2

-1

0

1

htemp

Entries

Mean

Std Dev

46

0.09622

1.85

2

3

4

fabs(mini_eigall.usr_evMon10) ) /(ppm/um)




Slope (ppm/um)

Ay
o1

=
o

Slug91: Slope:

usr_vs_evMon11 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

(LR R B B

4903

9904

4905

4906

4908 4910

4911

9974

4917

Run Number

— F htemp

| ! ! -@- Regression 5

- . . I Entries 46

n | |

- . . -@- Lagrange Mean 0.04097

L 1 1

I Std Dev  0.6753
1

-

-2 -15 -1 05 0 05 1 15 2

fabs(mini_eigall.usr_evMon11) ) /(ppm/um)



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15


